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Calculate :
(i) Material usage variance
(i) Material price variance
(iii) Material cost variance
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Define and explain standard costing. What are the
different types of standards ? Explain them.
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Paper Second
MANAGEMENT ACCOUNTING
Time : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 25
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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What is meant by Management Accounting ? Discuss its
main tools and techniques.
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From the following particulars, find out stock turnover
ratio :

4

(a) Sales 3,20,000
Gross Profit Ratio 25% on sales
Opening stock 31,000
Closing stock 29,000

(b) Opening stock g 20,000
Closing stock 10,000
Purchases 50,000
{A-22)
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Carriage inwards 5,000

Total Sales 1,00,000

Cash Sales 10,000

(c) Sales 4,00,000
Cross profit : 25% on cost

Opening stock was % of the value of the closing stock.

Closing stock was 30% of sales.
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What is Cash Flow Statement ? Discuss its main uses and
limitations.
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3w it 45,000 65,000
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TR 10,000 20,000
TR 8,700 11,000
77,700 | 1,18,000
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Amt. Amt.

31-3-18 31-3-19

® ®

Fixed Assets 46,700 83,000
Stock 11,000 13,000
Debtors 18,000 19,500
Cash 2,000 2,500

77,700 1,18,000
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TAIRmEr 31-3-18 | 31-3-19
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ot Rl 4 46,700 83,000
Tid 11,000 13,000
TR 18,000 19,500
K 2,000 2,500

77,700 | 1,18,000
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The Balance Sheet of a limited company as at 31st March,

.

Prepare a schedule of changes in working capital and
statement of sources and application of funds.

2018 and 31st March, 2019 were as follows :

, Amt. Amt.
Equity and Liabilities | 31-3-18 | 31-3-19
® ®
Share Capital 45,000 65,000
General Reverse 5,000 7,500
P&L Al 10,000 15,000
(-) Preliminary Exp. (1,000) (500)
Debentures 10,000 | 20,000
Creditors 8,700 11,000
77,700 | 1,18,000
(A-22)
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2018 25,000 5,000 (&1

2019 75,000 5,000 (1)
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Following records are available from the accounting
records of Praveen Ltd. :

Sales Profit/Loss
Years
® ®
2018 25,000 5,000 (Loss)
2019 75000 | 5,000 (Profit)
Find out : ‘ :

(i) P/V Ratio
(ii) Fixed Cost
(iii) Marginal Cost for 2018 and 2019

(iv) B.E.P. _

(v) Margin of Safety for the profit of T 10,000.
)
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The cost-volume-profit relationship of a company is

‘described by the equation y = 2,40,000 + 0.7x in which x

represents sales revenue and y is the total cost. Find out
the following :

(i) P/V ratio .

(ii) Production Break-even point

(iii) Company wants to increase profit by ¥ 60,000, what
will be the sales ? -

(iv) Increase in profit if sales increase by ¥ 30,000.
(v) Sales volume required to produce an income of

% 90,000.
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For the production of 10000 fans the following are
budgeted expenses :

% per unit

Direct Materials 60
Direct labour 30
Variable overhead - 25
Fixed overhead ¥ 1,50,000 . 15
Direct variable expenses : 5
Selling expenses (10% fixed) 15
Administration expenses (2 50,000 rigid |
at all levels of production) 5
Distribution expenses (20% fixed) 5

Total 160

Prepare budget for the production of 6000, 7000 and 8000
fans showing distinctly marginal cost and total cost.
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Define budgeting. What are the requirements of a good
budgeting system ?
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A manufacturing concern which has adopted standard
costing furnishes the following information : !

Standard :

Materials for 80 kg finished product i 100 kg

Price of materials ¥ 1.20 per kg

Actual :

Output ' 240000 kg

Material used 315000 kg
"~ Coat of materials % 3,46,500
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